
ANSWERS TO INTERMEDIATE QUIZ SHEET 3 

1. 1H (cheap fours); 3NT (partner has 17-18) 
2. 2C (cheap fours); 6NT (partner has 15-16, 33 for 6NT) 
3. 1S (never bypass a 4-card major); Pass (partner has 15-16, not enough for 

game) 

  

BIDDING: 

Hand 1 is correct 

Hand 2 would support hearts immediately to 3H, points + shape 

Hand 3 would respond 1S but then jump to 4H 

  

LEADING 

1. sK (top of a ‘broken’ sequence 
2. h9 (high hate, longest suit) 
3. d10 (top of an internal sequence) 

  
 


